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HT A= SA  ZAITHA D
BeaRy(c
=22y ? )
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
SEHI(ZAITH 70,420 72,420 22,000
=1l 70,420 72,420 22,000
=3l 70,420 72,420 /2,000
201 fer= 3| 26,520 28,520 A2,000
01 At 2t 26,520 28,520 22,000
Qeet=EH| 10,200
ORKNSEMNRESTAYS 3,200
OVEASLHATYS 2,000
Ooggte=g 2,000
OgeFURAAHIS 3,000
U=l 16,320
OEAIHEH L 16,320
202 04l 39,100 39,100
01 =LHAHI 39,100 39,100
IEPAPA RS 39,100
203 2= 4,800 4,800
MU A=Y 4,800 4,800
130 olat 4,800
HRES(SAIHA4D 10,627,000 10,000,000 627,000
SHeHXIE 10,627,000 10,000,000 627,000
HEXNGLHSEEH =Y 10,627,000 10,000,000 627,000
701 JIEtRI HSHES 10,627,000 10,000,000 627,000
01 JIEt=I AN ES 10,627,000 10,000,000 627,000
OS=XSSEHEES 10,627,000




A £ 0l & AF & S

Al A

A3 ALTAR TN ER8E
B NLCALSEY
=t NYEs (CH9: &S1)
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &4 %E% Husz
E2EEN 236,674,210 319,031,610 A82,357,400
= 39,899,000
S 196,775,210
ANgeAL=ad 175,887,190 257,817,590 281,930,400
[ 39,899,000
= 135,988,190
NeEES 164,637,870 229,321,270 AB4,683,400
s 39,899,000
S 124,738,870
SR AR X SN 18,923,000 22,230,000 A3,307,000
= 16,733,000
S 2,190,000
401 AIEHIZL R OHYI 18,923,000 22,230,000 23,307,000
= 16,733,000
< 2,190,000
01 AlZHI 18,617,000 21,710,000 23,093,000
OSMSAAIXN (D ES L) 18,617,000
[ 16,427,000
== 2,190,000
02 Zteltl 254,000 500,000 A246,000
Ot A2 S22 (S5 YY) 254,000
s 254,000
03 Al& S HHI 52,000 20,000 32,000
OSHESA2 X SHZAIL UL (RSS
2) 52,000
s 52,000
SHEZZEE) 2NN 7,743,000 4,286,000 3,457,000
s 2,205,000
= 5,538,000
401 AlIEHIZL 2 0HYI 7,743,000 4,286,000 3,457,000
s 2,205,000
S 5,538,000
01 A=l 7,533,000 4,066,000 3,467,000
OHESZEH)IXNEHZH(DESY) 7,533,000
= 2,195,000
< 5,338,000
02 Zeltl 210,000 200,000 10,000
O (S22 E )N B(ZES
2) 210,000
[ 10,000
= 200,000
SRR INE 20,714,000 31,450,000 10,736,000
= 500,000




A3 ALTAR TN ER8E
S NS HLS LT
e NE==s (Sl &&)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 20,214,000
401 AIEHIZ 28I 714,000 21,450,000 220,736,000
s 500,000
& 214,000
01 AlEHI 564,000 20,900,000 220,336,000
ORI XNEHEH (ST Y) 564,000
s 350,000
& 214,000
02 2eldl 100,000 500,000 2A400,000
OAREGRIZ2XCINE2A2IH(ZESY) 100,000
= 100,000
03 AIE =2 CHHI 50,000 50,000 0
OAHOIRI2XNEHSALERUE(ZES
Q) 50,000
= 50,000
403 XX SHHSKH=01A 20,000,000 10,000,000 10,000,000
02 B 2SHICHEH A2 X 2 EFALZ I 20,000,000 10,000,000 10,000,000
OaEGH=E XSS S| 2SHIHeH A=
HEAISHI 20,000,000
SAHMRt=XEHE 2,131,000 14,300,000 212,169,000
s 1,492,000
& 639,000
401 AIEHIZ 2018 2,131,000 14,300,000 A 12,169,000
s 1,492,000
& 639,000
01 Al&HI 1,631,000 13,780,000 212,149,000
OS2 EA4(3SEY) 1,631,000
s 992,000
& 639,000
02 Zeldl 500,000 500,000 0
Oita2i=X A8 2eH (ZE5Y) 500,000
s 500,000
Hetots(1-2) = KNI SHE 26,624,000 24,078,000 2,546,000
= 15,000,000
= 11,624,000
401 AIEHIZL 2018 21,429,000 17,578,000 3,851,000
s 15,000,000
T 6,429,000
01 AlEHI 20,709,000 17,048,000 3,661,000
OESs(12)2 RN NS BEEY) 20,709,000
s 14,280,000
T 6,429,000
02 eyl 700,000 500,000 200,000




A3 ALTAR TN ER8E
M XNSCALETE
ol AYEE EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH dEs Hnz=2
SmoETAreER e T == B Ofl &k ==
OX&ots(1-2) SN2 eH(ZSSY) 700,000
= 700,000
03 AIZ=CHYI 20,000 30,000 10,000
OX &S (12) SN HBAIELRUBI(ZSE
) 20,000
= 20,000
403 MHXISHHSK=01H 5,195,000 6,500,000 1,305,000
02 SIS0t =2 H A A 5,195,000 6,500,000 1,305,000
OEErS(1-2) SR E NS I 2SO CHSHR
A S A 5,195,000
DEdFA= e 3,944,000 14,400,000 10,456,000
fas 1,711,000
< 2,233,000
401 AIEHIL 20| 2,444,000 14,300,000 11,856,000
z 1,711,000
< 733,000
01 AlI&ZHI 2,080,000 13,780,000 211,700,000
OnEdFAINENSH (D SSTY) 2,080,000
z 1,347,000
< 733,000
02 Zell 360,000 500,000 140,000
ODBE=2AI XN SeI(FSEEY) 360,000
= 360,000
03 AIZ=CHYI 4,000 20,000 16,000
ODBEFAFANHLALRUHI(ZES
) 4,000
s 4,000
403 MXISHHSIH=01H 1,500,000 100,000 1,400,000
02 SIS0t =S A A 1,500,000 100,000 1,400,000
Ougd==Aa=XNheEsI I 2A S0t et
NEH2AS A 1,500,000
R uAL 940,000 14,290,000 13,350,000
fas 658,000
< 282,000
401 AIEHIL 20| 940,000 14,290,000 13,350,000
z 658,000
< 282,000
01 Al&ZHI 630,000 13,970,000 13,340,000
OZFUnAL(ZSSLY) 630,000
= 348,000
< 282,000
02 Zell 300,000 300,000 0
C2rtinALdZeltH(2SS5Y) 300,000




A2 AL AR FH EEEED
B NLCALSEY
=t NYEs (CH9: &S1)
A= - BA - Y HA(SAH) - NRAMNY - BES Ofl &t oH %E% Hns2
s 300,000
03 AIZ20HHI 10,000 20,000 10,000
OZFUHUHEAERUB(ZSEEY) 10,000
s 10,000
OFEEMEHE = EHE 714,000 7,650,000 26,936,000
s 500,000
= 214,000
401 Al&HIZ 20| 714,000 7,150,000 26,436,000
s 500,000
s 214,000
01 AIEHI 494,000 6,830,000 26,336,000
OOtEEMEHE 2N EHE(ZSEY) 494,000
s 280,000
= 214,000
02 Zeldl 200,000 300,000 100,000
O0tEMHEHE 2N HE 2 H(AS5Y) 200,000
s 200,000
03 AlZ = THHI 20,000 20,000 0
COtEMEHE I N SHEALRUHI(ZSES
&) 20,000
s 20,000
SECAHU=XEN 2,163,000 7,650,000 A5,487,000
s 500,000
L= 1,663,000
401 AIEHIZL R OHYI 2,163,000 7,150,000 24,987,000
s 500,000
= 1,663,000
01 Al&HI 1,943,000 6,830,000 A4,887,000
O22HA=XNEHEH(BSSY) 1,943,000
s 280,000
T 1,663,000
02 2eldl 200,000 300,000 100,000
O22cH=XE2e i (ZE5Y) 200,000
s 200,000
03 Al& = HHI 20,000 20,000 0
O22CHA=XNCSHSAIEL2UEH(RS
2) 20,000
s 20,000
AEER=EX S 350,000 400,000 250,000
308 KEXIEHHMSOIS 350,000 400,000 250,000
07 XXIEtH2t R E = 350,000 400,000 250,000
OaEEt=aXSNE 350,000
SR EHE 786,000 4,800,000 24,014,000




A3 ALTAR TN ER8E
M NYCHLE T
=t NYEs (CH9: &S1)
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &4 a8 Husz
Ofl &tk
s 200,000
S 586,000
401 AlIEHIZL 2 0HYI 286,000 4,300,000 A4,014,000
= 200,000
S 86,000
01 AlZH| 186,000 4,080,000 A3,894,000
OSZLUAINCHE (D ESY) 186,000
= 100,000
< 86,000
02 Zteltl 90,000 200,000 110,000
OS2I RN HE 2L H(ZFESY) 90,000
s 90,000
03 AIE SR 0HHI 10,000 20,000 10,000
SHERIIXNEAHAEANLRUHH(ZES
2) 10,000
[ 10,000
403 THAIEMS =01 500,000 500,000
02 S712S0 e H=E P E AL 500,000 500,000
D=3 EAH4 500,000
2= Hd 786,000 4,800,000 A4,014,000
s 200,000
= 586,000
401 AlIEHIZL 2 0HY| 286,000 4,300,000 A4,014,000
s 200,000
S 86,000
01 AlZH| 186,000 4,080,000 A3,894,000
O2FREA2INAE(ZESY) 186,000
= 100,000
< 86,000
02 Zcldl 90,000 200,000 110,000
O2FagA=2 AL 2eH(FE5Y) 90,000
[ 90,000
03 AIE R 0HHI 10,000 20,000 10,000
O2FAEAINCAULEALRUHI(ZES
2) 10,000
[ 10,000
403 THXIEHMSIH=01A 500,000 500,000
02 S712S0 e H=E P E AL 500,000 500,000
O23dgd=Aca4d 500,000
AStU =X EINE 3,286,000 4,800,000 21,514,000
s 200,000
= 3,086,000
401 AlIEHIZL 2 0HYI 286,000 4,300,000 4,014,000




A3 ALTAR TN ER8E
M NYEALELE
ol AYEE EER=E)
AR .24 ZE . G230 - NIRAY - BES ol ke G o HlmS2
s 200,000
= 86,000
01 Al&Hl 186,000 4,080,000 A3,8%4,000
OLSHUACZHEBAHZESY) 186,000
= 100,000
= 86,000
02 Zeldl 90,000 200,000 A110,000
O serd2tez2HEIAZRIHI(ZSSY) 90,000
s 90,000
03 Al S CHHI 10,000 20,000 A 10,000
OASHUATZHESAMAEL2UHB(ZS
=) 10,000
s 10,000
403 XIS HMSAHE0IA 3,000,000 500,000 2,500,000
02 I 2SOHEA=2E S AL I 3,000,000 500,000 2,500,000
st UEZ2 AL ARSI 2 S0ICHEHAT
=X 2 AL HI 3,000,000
NEEHL 72,661,870 62,756,870 9,905,000
201 B2 AL| 8,000 3,000 5,000
02 324l 3,000 3,000 0
Os3=a4HA 3,000
OZZUSEo3RES 3,000
03 A2 G| 5,000 0 5,000
OC2A4 A2 A 2/ATS 5,000
203 PR =&H| 3,870 3,870
03 A FAIH R FAIH| 3,870 3,870
OXSEHRFA 3,870
401 Al HIZL S 0HY| 64,250,000 46,450,000 17,800,000
01 Al&HI 58,600,000 44,550,000 14,050,000
OXIY AL (F=21201) 58,600,000
02 2eldl 5,500,000 1,800,000 3,700,000
ORI S At 22l bl 5,500,000
03 Al 2 CHYI 150,000 100,000 50,000
ORI EAISAIE SO 150,000
403 REXISHHIS K201 & 8,400,000 16,300,000 7,900,000
02 I 2SS A2 X | EFAIS I 8,400,000 16,300,000 A7,900,000
ORI EALS 8,400,000
NE0=28XEL 1,013,000 913,000 100,000
305 A2 S 13,000 13,000 0
01 & =S 13,000 13,000 0
LoI=EXta3 13,000
401 A& B2 20iY| 1,000,000 900,000 100,000
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D AMEAIR 2N 28
D NYEAL S

(=)
D ERNSCHEIEANY

2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
403 XX SHMSAHE01 ™ 1,000,000 1,980,000 980,000
01 MXIStH 22 £ 1,000,000 1,980,000 980,000
OwSAINZRS24H 1,000,000
MW ZEX| (-1 H T BHAL) 1,980,000 980,000 1,000,000
403 XX SHHSA=01H 1,980,000 980,000 1,000,000
01 X SHH =2 E X 1,980,000 980,000 1,000,000
S FSIMPNEES<~bN 1,980,000
020 2SN A (22HH T EALY) 1,240,000 2,650,000 1,410,000
403 RXISHMSAH=201H 1,240,000 2,650,000 A 1,410,000
01 AXISHHAEER 1,240,000 2,650,000 A 1,410,000
O 0I2ES 79 1,240,000
OIM B S ALY (-1 A M BHALY ) 350,000 500,000 A 150,000
403 XX SHMSKHE01 ™ 350,000 500,000 A150,000
01 AXIEtH 22 £ 350,000 500,000 A150,000
CIoteStE et A T E ALY 350,000
LOISSRAINM (2-1EHHEHEALR) 725,000 664,000 61,000
403 XX SHHSA=01H 725,000 664,000 61,000
01 X SHH =2 E xR 725,000 664,000 61,000
OLo82532AINA 725,000
POINEHETHISE R (22 H N SHALY) 945,000 14,168,000 13,223,000
403 RXISHS AH=201H 945,000 14,168,000 13,223,000
01 AXISHHAEER 945,000 14,168,000 13,223,000
O NSHEHHISEX 945,000
ZAIE e 10,658,000 158,000 10,500,000
ZAIE=SEHI 10,658,000 158,000 10,500,000
TRzl 158,000 158,000 0
201 L2 | 158,000 158,000 0
01 At 22|l 158,000 158,000 0
2Bt~ H| 158,000
OLzNsSsS=eEE 100,000
OE&HFRsocEE 50,000
CEFRQscESEME 8,000
IS EINKZHIAIS 5,000,000 5,000,000
401 Al&HIZ20HY| 5,000,000 5,000,000
01 AlEHI 5,000,000 5,000,000
IECE=FSP) PPl 5,000,000
SRHHE Sl 3,000,000 0 3,000,000
401 Al HIZL 200 3,000,000 3,000,000
01 Al&HI 2,895,000 2,895,000
OsSRHeHESE2ACdEHAS 2,895,000
02 eyl 100,000 0 100,000




= AT A=

FH: Tz Aldae]

&elr SRAILSEL EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
O=sfdtgsSg2c|de =2l 100,000
03 AIZ 2 0HYI 5,000 0 5,000
O=SSAEESEeIdETASAIE 0] 5,000
EEEHAIE Y 2,500,000 2,500,000
401 AIEHIL 20| 2,500,000 2,500,000
01 Al&EHI 2,500,000 2,500,000
UE22HAILEZ 2,500,000
FARECEE 6,708,000 20,787,000 14,079,000
ZAECHL 6,708,000 20,787,000 14,079,000
ZAE ALY 6,708,000 20,637,000 13,929,000
308 ARISM SOOI 6,331,000 5,892,000 439,000
07 MASH2LRES 6,331,000 5,892,000 439,000
OUHFAEAZE NS HGI LA ALY 6,331,000
403 MXISHHSX=201H 377,000 14,730,000 14,353,000
02 SI|2SotHe =X A S A 377,000 14,730,000 14,353,000
D72 FLA=(F01~-3 L) 377,000
AY2I I =28 9,020 124,020 28,000
(=34l 9,020 124,020 28,000
Jl=23H| 9,020 124,020 28,000
201 Zet=El 46,420 74,420 28,000
01 Al22telHl 46,420 74,420 128,000
[ et==ZH| 27,220
ONRESHESF Y 27,220
O=tl 19,200
Oge=dgAll 19,200
202 04t 46,000 46,000
01 2oL 46,000 46,000
OR=&0d] 46,000
203 AR =] 3,600 3,600
M EASHLRFAH 3,600 3,600
20 0l ot 3,600
HRas(E2ECM) 43,325,000 40,145,000 3,180,000
WRHeHXIE 43,325,000 40,145,000 3,180,000
INE:PL = A=k o=y 43,325,000 40,145,000 3,180,000
705 Gl==dclsaE 43,325,000 40,145,000 3,180,000
03 Al - XML IS0 >3RS 4 33,000,000 29,000,000 4,000,000
OXIZEAE (10E) 2,500,000
OXgE A (12E) 2,500,000
O A0E AL =2 HEZAH12H) 1,500,000
ORI AR (13H) 3,000,000
O=ME XS AR (1349) 2,500,000
OXIZEAE (15E) 8,000,000
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MEF N EHI = (SH9 H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l & =
b 165,398,356 145,703,373 19,694,983
= 12,186,000
= 2,600,000
S 1,506,000
= 149,106,356
HMULTR 22 131,724,550 123,440,313 8,284,237
= 3,631,000
= 128,093,550
REAMGIE A= 128,056,550 114,872,313 13,184,237
O THOH Ol ZEAF (RIE ) (R EHAFY) 92,867,000 74,174,000 18,693,000
401 A& HIZLE0HH 78,277,000 57,684,000 20,593,000
01 Al&H| 70,671,000 51,695,000 18,976,000
CIoh& RHOH Ol 2E AR (=21 &) 70,671,000
02 Zeldl 7,500,000 5,853,000 1,647,000
CIoHE THOH Ol 2 AL 7,500,000
03 A& 20| 106,000 136,000 A30,000
CIoHE THOH Ol 2 AL 106,000
403 XAEXISHHSAH=0|A 14,590,000 16,490,000 A 1,900,000
02 2 12S0HUSHAI=E R EAZHI 14,590,000 16,490,000 1,900,000
(1ot THoH ofl 2 AL 14,590,000
OF ™ THOH Gl ZEAFR (KR ) (R EHAFY) 31,111,000 33,989,000 A2,878,000
403 XIXIHHS K20 A 31,111,000 33,989,000 A2,878,000
01 AEXISHH A 22X 31,111,000 33,989,000 A2,878,000
[16F& THOH Ol 2E AFS 31,111,000
Ol HEHR 4,078,550 6,709,313 N2,630,763
201 LEH2AH| 63,430 63,430 0
01 AtR2t2lbl 63,430 63,430 0
[gBt~=2H| 33,430
OoIEHEI LR AHAANZTRUALADERL]
= 33,430
294 30,000
OSHZBYHLY AN 22/ TES 30,000
203 R =&IH| 4,320 4,320
03 AIHF=RIHAR2=KIH| 4,320 4,320
(ot HE SR =X 4,320
401 A& H|I L E0HY] 4,010,800 6,641,563 N2,630,763
01 Al&HI 4,000,000 6,625,000 N2,625,000
CetED | 2AHE L&A 4,000,000
03 AIEE20HYI 10,800 16,563 N5, 763
Lot&D | 2HE L UE RS 10,800
SHAHA 3,631,000 8,550,000 24,919,000
= 3,631,000
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Mo

900,000

HEEA=
SR AIE==E
S EHIF=& CHe M)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
EN 1,506,000
=S 500,000
01 Al&H| 2,006,000 500,000 1,506,000
OXgsta2 88| 2,006,000
ES 1,506,000
< 500,000
403 MR EHHSAHE01H 4,100,000 2,400,000 1,700,000
01 MXIHH A 22 4,100,000 2,400,000 1,700,000
DI EEIA 300,000
LB 2= At 1,500,000
OX ot =288 L HHIAS 300,000
O==XNESHHAL 2,000,000
=Itotd 7 X 2a=At 8,565,000 10,000,000 1,445,000
= 8,565,000
403 X SHHMSAH=01H 8,565,000 10,000,000 1,445,000
= 8,555,000
01 XM A =2 E 8,565,000 10,000,000 A1,445,000
O=Itotd R A 2+=At 8,565,000
= 8,555,000
St g XZel (== ) 265,000 790,000 /525,000
403 AXIEHHSA=01d 265,000 790,000 /525,000
01 MHXIHHA 22X 265,000 790,000 /525,000
UEFANESS AL ES 50,000
UEFAASELLEEXEH 100,000
LEFAlMUHUZIeR ST S
& 15,000
O3FAIMUH AR SEHE N 25,000
OF0INRESHOIMNEER 75,000
H12SEHEL0H0IATIHE R (2 ER 8,296,226 0 8,296,226
401 Al HIZL S 0HYI 8,296,226 8,296,226
01 Al&HI 8,296,226 8,296,226
OM12SEH S 2010l A Il o=+ 8,296,226
AAMHASHNE X S HIAS 5,200,000 0 5,200,000
= 2,600,000
< 2,600,000
403 MR HHMSAHE01H 5,200,000 0 5,200,000
[ 2,600,000
= 2,600,000
02 SVI2S0 U H=E P EAIEI 5,200,000 0 5,200,000
OXSAAMHHAZEHE XA EHIAIL (DS
s2) 1,800,000
900,000




AR AMTAIR S
g SR AE+=A
el s dI=a (SH9 H2)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
O UXATHH R EN A X 2 HBIAIS (2 S
) 1,600,000
= 800,000
[ 800,000
CIOIAFRH A THOH I &R A X R EHIM R (2 S
s2) 1,800,000
[ 900,000
= 900,000
HY2HZHI (G ) 73,080 66,560 6,520
Jl23H| 73,080 66,560 6,520
JI=23Hl 73,080 66,560 6,520
201 fer= 3| 28,080 26,160 1,920
01 At 2|l 28,080 26,160 1,920
Leet=ESH| 10,800
ONRESHESF Y 10,800
U=l 17,280
Oge=AZAHI 17,280
202 04| 41,400 36,800 4,600
01 2L AL 41,400 36,800 4,600
OgE =048l 41,400
203 gF=4| 3,600 3,600
M FA2HLRFEI 3,600 3,600
L2005t 3,600
Hees (o) 5,025,000 3,353,000 1,672,000
LI HHKIE 5,025,000 3,353,000 1,672,000
NS SH == 42t 5,025,000 3,353,000 1,672,000
705 Ol==2clsate 5,025,000 3,353,000 1,672,000
03 Al - EXISHED I S0==S8 st 2,500,000 800,000 1,700,000
Cot EHIArG (174) 2,500,000
04 Al - EXSENL IS0 01 Rhatg 2,525,000 2,553,000 /28,000
OISt EHIAIG (17E) 500,000
Ot AHIA (184) 400,000
Ot HHIAF (199) 400,000
OXIYEHE ZHIAIS (204) 700,000
CIEHZS0IE X 2otE Mo = (20) 525,000




H & 0l & AHS B Ml A

A A

=M

K]
KF

A

od
i’
oF
uJ

2

R0
=<
<olU
A RT <)
W ) RO
= 20

W & o
A RO T

SIRSIRS S SRS S|
88|38 Q 333 ol
Ko |2 < < NRARS
H |<
F=)

gl |K|8(8 8 QIR 21818 21818 8 21818 ele

OO0 @00 S e Sle|e S(S|S S SlS|S

I |IW | — | < | < "ol H'oN NY9) o
E.%%MMHH1 8 B|2|< a19|2 = 38|33
m3 =
RIS

LIRSS 8 8 888883888 3I8I8& 181888 3|I8I88888883|8[8[888 88|88

DO O0O |0 VI v O 1 O O O O O O O OIMM M|IO|IO|C O OO O O O O O Ol O o o|o|o

glelglelslee v o T ggeogggYy ve|gjeclgleleg oS cggg 8o g
O
<
b=
o
X0
&l
. 0o 0o
e S+ <
< 00 o o} =
Ik o o o ) D
=3 il OF ® 00 o] Al 30
. o 08 e <k U R _ Rr 0H
= F R < R <+ Ok =] = W S
= W W =< ol G 3 KF W2 EIE)

o] AR m <0 =< T O nm o X R n & o o
= zZ Z U m _moK R 78 K{ RO K H H _m ki ol o X0
o HUH S0 =Tdodn s 4| [ 3 |gly & o DA RN XM
Y| 2l e IILA =T EBEaAaRRI |l A|glslo ® ®Es _ << RKE|l ||l iz
* KF Zlo|ld . R R WHWFZ ok WK K[z <|=|w|s < 0|z o HWH T Ok ok|glu|z 36 < & |k
& 2| |m|aojm S S W Jdw @M s < s Hrplzlg U #|yeoo W I o dllplzlg U WG|
RO W = |m|ob | F R RO <0 RO oy OF 4 TR0 ORO|KH|KE < fgp|o0|ou < R |wo|op | 3k ROORO op KOOI fgn || RO B|gR |0
. 2l 98 = Tl U i U U O O T (e I S = - B - = O VI O A R T T e =l = R T e
g w|=|H|a|= B O O O O M O O X Olan|<x HiW|R|R U E[yHlan|=z ot O O ) < O|H|R|R < H S|
Ik _u,uc._c._&‘I,ID o 0] 33DM_81DDM\_11D o [ M_B,.IDDDM\_,I

—_ | = [ ) (@) OO OO [l Ne) (@) OO o
. |olal| <R | « RO | @ R0 | RO | & R0 |
r || RCRO| U W 0y 0y H
a1 | = | U
<l |x

=




HEA= A AEAIEE D
SHOICHATAIEX
Bel=AlZE EERE)
LA B SRI(E) - AISAY - BES of v G o HIDE2
01 At2t2ltl 2,000 0 2,000
eS| 2,000
ONSIINHEHZ2ILDESHYUS 2,000
301 EtE NS 15,000 0 15,000
14 0Bt 2a3 15,000 0 15,000
LINSO IRt 0= 15,000
308 AHXIHMSO0IA 33,000 0 33,000
01 RSN EES 33,000 0 33,000
O EAFUEHSSHXIA 24,000
LeEA=E2HAE2S 9,000
ME2EEHEMZAZY 6,437,200 12,356,000 /5,918,800
HBSNUEAIEHE 6,437,200 12,356,000 /5,918,800
SEADIEXE 5,837,200 11,566,000 A5,728,800
401 A2 HIRL 201 2,507,200 11,566,000 /9,058,800
01 Al&HI 2,000,000 11,549,000 29,549,000
OASAMKSEI6S & (FE)HZE2HE S
At 2,000,000
02 Zeltl 500,000 0 500,000
OACAKS LIS & (FE)HBE2IHE S
At 500,000
03 AlE S THYI 7,200 17,000 29,800
OAEAKSE6SE (FE)HZEZ2HE S
At 7,200
403 AXIEHHISAH=0lH 3,330,000 0 3,330,000
02 SIS0t 2 S A AEHI 3,330,000 0 3,330,000
OASA~KSEI6S & (FE)HBE2IHE S
At 3,330,000
SEEUCANYEZHEN A 70,000 350,000 /280,000
401 AlZHIZ S OHbI 70,000 350,000 /280,000
01 A28l 70,000 100,000 /30,000
U=E=B8SEH~ T AAZ =2 IHE S ALALEE
dISXIANES 70,000
SU2AZAIERE 530,000 440,000 90,000
201 Ler23 | 310,000 310,000 0
01 At22t2lt] 10,000 10,000 0
g er+=ZH| 10,000
OdH=SoHH I 5,000
Odd=sS=sIAe|2ZESTY 5,000
02 s3=gHl 300,000 300,000 0
LAl EHI= X 300,000
Odd=S=N2cEY 300,000
206 M=l 20,000 20,000
01 MZH| 20,000 20,000
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100,000
100,000

A7,880
A7,880
27,880
25,380
A5,380

A2,500
N2,500

HMEE
Ofl &k2h

100,000
100,000

77,766
77,766
77,766
37,766
37,766

37,000
37,000

3,000
3,000

Ofl &F2H

20,000
200,000
100,000
100,000

69,886

69,886

69,886

32,386

32,386

200,000

16,500
8,500
8,000

14,400

14,400

1,486
1,486

34,500
34,500
34,500

3,000
3,000
3,000
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H & 0l & AHSH H M A
A HEZAIR A SRALSAMGEL
M Ngcsesdsiztel
o CE2NEYSE (EEEE))
4224 BH. OS(SH) - SN - BaS of e CiE HIDS2
SRHLAMSA 47,097,937 35,519,955 11,577,982
= 450,000
EN 615,000
< 46,032,937
Ageesxd X2l 42,983,653 29,559,689 13,423,964
= 450,000
ES 615,000
< 41,918,653
CRNSYEE 12,434,320 7,404,320 5,080,000
ANEIE=HEE 12,434,320 7,404,320 5,080,000
203 gR=8| 4,320 4,320 0
03 A=A FAIH| 4,320 4,320 0
OXY S TR IAFEA 4,320
401 AIEHIZL 20HY 12,430,000 7,400,000 5,030,000
01 Al&H| 12,400,000 7,370,000 5,080,000
CIALI S = E ALY 12,400,000
03 Al = CHY 30,000 30,000 0
CIALR| S 2 EE ALY 30,000
As Xt S2te i 5,610,000 2,400,000 3,210,000
A2 RIONE (22EH A EALY) 4,950,000 2,400,000 2,550,000
401 AIEHIL20HY 4,950,000 2,400,000 2,550,000
01 Al&HI 4,936,635 2,390,000 2,546,635
O/ 2HA 4,936,635
03 A& S CHYI 13,365 10,000 3,365
O ZHA 13,365
S XZ A (2-1SHAHE EALY) 560,000 0 560,000
401 AIEHIZL 20 560,000 560,000
01 Al&HI 560,000 560,000
S FSIMPNEINRe:! 560,000
WSADRSRINH (2-1SHHH EALY) 100,000 0 100,000
401 AIEHIL20HY 100,000 100,000
01 AlI&HI 100,000 100,000
OuSAIIZRERNA 100,000
ALK 2el 18,949,133 15,089,233 3,859,900
= 450,000
ES 615,000
< 17,834,133
RPN 52,000 52,000
201 LBt 2,000 2,000
01 AtR2telbl 2,000 2,000
L=l 2,000
ONE =R AT =] 2,000




A= AdEAl= A SRALGAMSTL
M Y=L 72
el Xg=RX 2 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
401 AIEHIZL 28I 50,000 50,000
01 Al&Hl 50,000 50,000
2 ISt EXIEA XAl & Y| 50,000
=Rzl 17,897,133 14,937,233 2,959,900
EN 615,000
= 17,282,133
101 @I24H| 50,833 48,233 2,600
M IIRHZ2Z2XSE+ 50,833 48,233 2,600
IDN L=9N ko) P b=r==r 50,833
ooy 76,9603 62«88 40,635
O=4| 6,000 x6% 88 3,168
OneEt| 3,000 x6 % »88 1,584
O4E& 5,446
201 23| 257,800 235,000 22,800
01 ArR22ltl 45,800 40,000 5,800
Y Bt=2H| 4,000
OLNEEZEHES 1,600
OZHI 2SR UHHEXNANNESETALS 2,400
=4l 1,800
OAH&IHL S EXNS2MALI=H] 1,800
DXtz 40,000
O=Z22g8=H4IHdx= 40,000
02 Z324Hl 212,000 195,000 17,000
JS3aZAH A 61,000
Oo&IIRE 30,000
OHEAAL SR 2l 10,000
OXHEEHZLUIIEtHAZS 2 21,000
CIXtEs 2] 151,000
OSENHELHEIIHSFU 85,000
OAEIIHR XL 28,000
OZEXER LI 19,000
ON&EY+=sZ IR AL 19,000
206 M= 4l 40,000 40,000
01 M=l 40,000 40,000
ON&EdE2gsz2sY 40,000
305 HH&al =S 14,000 14,000
01 tH& =S 14,000 14,000
OASZEa3 14,000
401 AIEHIZL 28I 17,424,500 14,000,000 3,424,500
EN 615,000
= 16,809,500
01 Al&Hl 16,885,000 13,950,000 2,935,000




A= AZZ A= 2A SRALEMEL
3 NS RA2el
el Xg=RX 2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
OXEERX2el ALY 16,885,000
e 615,000
& 16,270,000
02 2eld| 500,000 0 500,000
OXEERX 2 ALY 500,000
03 A& S CHYI 39,500 50,000 10,500
OXEER X2l AY 39,500
405 THAHFSHI 110,000 600,000 490,000
01 TR ESF SHI 110,000 600,000 490,000
CeE-S3H7Y 110,000
OEIZEH 110,000
CE2HOHNEXIEHI ALY 100,000 100,000 0
401 AlEHIYL S THYI 100,000 100,000
01 Al&ZHI 100,000 100,000
OS2 HOHHEXI ALY 100,000
STEAKSUAS KNS ZHIALE 900,000 0 900,000
= 450,000
< 450,000
401 Al&BIL S THYI 900,000 0 900,000
= 450,000
& 450,000
01 AlZHI 900,000 0 900,000
OSZAKSUAENLFH(ZES L) 900,000
= 450,000
[ 450,000
Wt 2te| 5,990,200 4,666,136 1,324,064
WEEIHA 999,200 500,000 499,200
401 AlZBIL S THYI 999,200 500,000 499,200
01 AlZHI 992,000 496,000 496,000
OWZIHHMA 992,000
03 Al 20HHI 7,200 4,000 3,200
O AL 7,200
WEI=2HASE 3,271,000 2,804,000 467,000
201 er23| 210,000 204,000 6,000
02 S3=gl 210,000 204,000 6,000
OS223LHA 150,000
O&XI23 150,000
OAIEEHIS A 60,000
O&|ote 2te|CHeY 21,000
Oagotd e | el 9,000
OXZEHIIANEF I 2L 30,000
401 AlZBIL S THYI 3,061,000 2,600,000 461,000
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2,000
2,000

368,000

459,000
370,000
370,000

N21,524
N21,524
A21,524

6,476
6,476

HMEE
Ofl &k2h

9,000
1,280,000
1,280,000
1,276,000

4,000

2,591,000

70,000
70,000
70,000

537,245
537,245
537,245
100,945
100,945

Ofl &F2H

11,000
11,000
1,650,000
6,000
6,000
70,000
70,000
70,000
70,000
515,721
515,721
515,721
107,421
107,421
100,353

72,381

3,050,000
3,050,000
1,650,000
1,644,000
1,644,000

3,464
4,500
2,250
10,858
6,900
7,068
4,618

- SHRAZA) - HRANY - BES

- B

- 24

01 A=l
03 Al = 0HHI
01 AlZHI
03 Al CHYI

401 Al HIZ R 0HbI

ll

01 AlZH|
=i

401 AIZHIY 20

<+
I

OF

Xl

e

)

—-

RO
0H

2,010,580 «3H « 122
76,9603 3 152
6,000& »3H »250&
3,000 *3H *250!

04 JIZtNZ2E2XSE =
@ZN1==h=:

101 e124d|

oFJ

T

A2
OtSCH

9]

S

X

22,000

290,500
38,700

924
154
360
180
832
312,500
38,700
4,000
2,000
2,000
200
200
27,750
27,750

76,9602 12 +60!
76,9602 18 x12&
76,9603 x1H 22
6,000 «1Z~60!
3,000« 1E 60

@ZIN =)=
01 At22te|bl
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22,000

250,000
50,000
358,009

A309,003

309,003

HMEE
Ofl &k2h

251,800

27,000
27,000
8,800
8,800
110,000
110,000

3,956,572

3,700,358

3,700,358

Ofl &F2H

150

150
6,600
6,600
273,800
170,000
120,000

15,000
34,000
1,000
31,000
31,000
72,800
27,600
3,600
7,800
3,200
9,000
4,000
45,200

7,800
4,000
7,800
9,000
16,600
27,000
27,000
27,000

8,800
8,800
1,000
1,800
6,000
60,000
60,000
10,000
50,000
3,598,563
3,391,355
3,391,355
3,256,295
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- 24
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t=2

JIHidl
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30
O
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KAl

o

R
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HAlZ o=
Bl= X4

- e o an = o
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OJ1E
PR

LAl

ar

-

R0
KJ
ol

FM

H
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-IPEJ|IR X
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o
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01 M=l
01 AlIZHI

401 AIEHIZ 20

206 =4I

30
0B
il

50
0H
wr
oJ

oJ

A313,923

A266,320

3,570,218
3,128,717

2,862,397

01 2=

101 e124d|




A= AHZAIR SA SRALALA
HH: AHSAJY|(SRALALL)
el i Eg| (Ete &
A2 R4 BB O9(B) - IRAY - BAS Ofl b Ce = DS
&= - FA- S - = = S= = Ofl koY ==
123 1,942,740
o] 452,000
43 98,000,00024+1% 98,000
-3 88,500, 0002 x4 354,000
Os=H 1,490,740
-62(05) 3,941, 1008132 » 122 614,812
72(1052) 2,819, 50021+20 * 122 676,680
-82(55%) 2,075,502 +8% » 122 199,248
Oag 637,611
Oaosgy 157,980
-H24g
1,490,739, 6002 %1/ 12+50%+23] 124,229
-H22E0HE 23,400
- 25014 130,000 +5% * 128 7,800
- 2010] &~251 0] 2
110,000 x5+ 128 6,600
- 151401 A~204 0] B
80,0002/ +5% » 122 4,800
- 10401 &k~1544 0] B
60, 0002 +524» 122 3,600
- 50| A~102 0/ 2
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